This question paper consists of 31 questions [Section-A (21) + Section-B (5+5)] and 8 printed pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of questions contained
in the paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 49/HIS/1, Set [A] on the answer-book.

5. (a) The question paper is in English/Hindi medium only. However, if you wish, you can answer in
any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)

(314)
Time : 3 Hours | [ Maximum Marks : 80
qu ;3 U | [ quifes : 80
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i)  All questions from Section ‘A’ are to be attempted.

(ii) Section B’ has two options. Candidates are required to attempt questions
from one option only.

(iv) Maximum marks for each question has been indicated against it.
MegT: () 39 T-99 § &1 U8 —@Ue 31 a1 @ 9 |

(i) @ ‘e & A T H EA HEAT B

(i) w@vg ‘& #Q faswmen ¥ whenfia @ Faer ww frereq % &y F IW A T

(iv) T T o Aferehan 31k 3 % wmd T T E

SECTION-A
Que-A
1. Name any two greenhouse gases. 1
foreell < eRae i % AW A
2. A particular plant hormone was used to increase the height of dwarf plants.
Which hormone was it? 1

w fafre uew gWE @ dF ddl B SR S o Tt W TR T SasT 9@ sE-an
B o1 ?

3. Draw the figure of an antibody and label the heavy and light chains of it. 1
U TiREfl 1 AR@ SR qAT IThI VR TH Toeh! @A 1 ATHIHA hiTeT |

4. A cistronic DNA strand had the following base sequence :
ATGCGGCTAGAATATTCCATGGCC
What would be the base sequence of the mRNA transcribed from it? 1

fodifis DNA % dq 8 frfefiaa s@ &0 gar @ -
ATGCGGCTAGAATATTCCATGGCC

T g 3TIRad mRNA &1 o9 A FI1 2r?
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5. Classify the following into their kingdoms and mention the reason for
classification : 2

(a) Malarial parasite

(b) Pea plant

(c) Mushroom

(d) Sponge

freferfian el 1 7% St # o B den arfiga R ST F1 BRO SR
(%) Tt aestE

(@) =X H W

(M) weEH

(@) &

6. Make a diagrammatic sketch of ‘cell cycle’ and label its three phases. 2
“FRITRI-Th 1 Tk STRE o aAEY 3R 3ITh! i TTERd1ed @ AT shiteg |

7. Why is yeast needed in breweries? Provide a word equation to explain your
answer. 2

Ta-fmfoemenett ° e it = AEvEEar @idt 87 I SW R [ FH % Ay
e -FHiR fafigu

8. Draw an ecological pyramid showing energy flow and indicate its trophic levels.
Also write your conclusion drawn from the figure. 2

Sl YATE 3R WU & R 3G @ Sl U uiierfadhe fifie saEn) fom @ uw
forw o e frsed ot farfau

9. Why is it that an AIDS patient loses immunity against several diseases? 2

wH = B 8 6 AIDS % i Y 3@e U o fow ufewen 9w @ St 27

10. Construct a diagram to show that DNA wundergoes semidiscontinuous
replication. Label only the replication fork and replicated DNA strands.
(No need to mention base sequence in the figure.) 2

g emid % fu 5 DNA erdfafess TR =0 @1 2, U% M@ sHEy| shad Tidid
el 3R ufidkd DNA T &1 & Jmed dive (i & 989 w9 &l == & 6l
ETIHAT T B) |

11. State the differences between DNA and RNA with regard to the kinds of sugar
and pyrimidine bases. Also express the functions of the three types of RNA. 4

T % YRR 3 fUffadi S|l & ded § DNA 3T RNA § A adeu| ¥y & o=
ThT % RNA & &rEi 6 ff ==i Fhifsm)
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12. How do humans see an object with the help of their eyes?

T AT At @ R swg i R yeR 3@ o 27

13. Environmentalists are worried about frequent occurrence of typhoons and
cloudbursts, increase in surface temperature of the sea etc., and attribute them
to climate change. Explain, in detail, the phenomenon responsible for climate
change.

TITERUIg, STEER AW a1 TEEAT TR AR %ed, YR o dael aOHE &I ghg, 3mf =t
oo Fafad & iR 3 39 fofu Sioery aftedq =t Ser oma 81 Soer afedd & foo
IR uiEeT i foear @ =men fifsu)

14. A person was complaining of excessive dilute urination. The doctor diagnosed it
to be due to reduced production of ADH. How would an increased level of ADH
in the blood correct the condition of the patient?

forell =afeh =l sTcafees AN H 9g g9 ol RehEd gl FfhcRe 4 3@ MEW % w9 H
sa@n f6 98 ADH % 3cared § &l 31 SH % @Ror & @ 8| R # ADH % &R 9§
gig 2N W Wt ft 72 fufa fra R o afi?

15. An example of Natural Selection is industrial melanism. Give suitable answer to
the following questions on industrial melanism :

(a) Before industrial revolution, which variety of the peppered moth could be
easily detected by the birds and eaten up?

(b) How did this variety arise and why was it detected by the birds easily?
(c) Why did this variety increase after industrial revolution?

(d) What role did Natural Selection play in this increase?

TFE a0 F OTE @R g MR AfeEn | S afigem W 9w ™
frafafiga o= % Iw dfg

(%) ofrEfie Fifd ° qd Y9€ Tav i fore o o1 usfl sTamft & gar @ od o 3R
eI IIDK

(@) % T form TR 3c9a g3 3R Uafl g6ehl Uga™ T § fhd TR R 7
(1) frenfier wifa % gvErg @ e i wen ®= o9 Y
() 39 ghg § urhfoek o i w yfieRr w7
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16. Given below is a flowchart presenting the ‘types of plant tissues’ :

Plant Tissues

| | |

| Parenchyma | | Collenchyma | | 2 |
Fill in the blanks labelled as 1, 2, 3 and 4. Write the answer in your
answer-book. State their locations in the plant and their functions. 4
= yaTE-ae # 91QY Haehi o fafd SRl i femermen mn e

i

I

=
I%@mllﬁﬁlﬂwllll

1, 2, 3 3R 4 F=r ¥ fo@mw 7w afed § o woH A gfd difce) I eTe
Iw-gfeaen # faflaw) @l § 7 Sawi A feafa qon s wrt sasu)

17. What is the advantage of cross-pollination over self-pollination? State three
adaptations in plants which promote cross-pollination. 4

OO Sl ST RO R AWERS ¢ 39 Uidl o @ 3TJhed 9asy SR Ru
ST AT G99 BT 2

18. (a) Give an account of those events of photosynthesis which occur in the
presence of sunlight.

(b) What is fermentation? Mention four industrial applications of
fermentation.

(c) How do stomata open for transpiration? 6
(F) TRII-HIATU H I TSI 1 TR0 TEgA fifoe 1 gF F yww § 2l 2

(@) fwvas @ gar 27 fRvaa & ww efEnfies gy SanRe |

(1)  arreEsH o T g e gad §f
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19.

20.

21.

(@)

(b)

()

(@)

(b)

(%)

(@)

Why is a human female termed as ‘homogametic™? State, in two
sentences, why she should not be blamed for the sex of her child.

What does adolescence mean? State one physical change in a boy and one
in a girl by which they can easily be identified as adolescents.

= w1 el I e S 27 9 arei § saree R ufgen @ 3wk a= & fom
% fou ot = 9 A =i

ToreTIa®en ¥ MU 1 dIcad 27 Ush WS 3N Uk aghl § Uk MRS a0
FarEe el 32 e @ foreit % w9 § yg=m S g |

State four human activities which have endangered the lives of wild
animals and caused biodiversity loss.

Identify four nonconventional energy resources from the following and
write about them in brief :

Coal, Hydrogen, CNG, LPG, Biofuel, Petroleum

I OR A fRameharal ol aqey S o I=-T10r 1 Sied @t | U TR @
qon Safafagar 1 +f 3™ 33T 2|

Feffiad § § ¥R S o IR-WRATd GEEH] Fl TEaTHY 3R 36 o) H Gad o
fofta :

Coal, Hydrogen, CNG, LPG, Biofuel, Petroleum

From which parts of the human digestive system are the following
enzymes secreted?

(i) Pepsin
(iij) Lactase
Mention their digestive action.

Mention any four enzymes found in the pancreatic juice and give their
functions.

frferfaa dSmedt @1 w@ 9g % UeH-aF % R Wi | g 27

() ufees

(ii) ES

Th U -forn Y ==t s

YT ™ H YT 9 9T i IR TSEA] hl Il hilsT q97 39k A «dmEy |
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22.

23.

24.

25.

26.

314 /HIS/106A 74 IPTO

SECTION-B
Qus—d
OPTION-I
foshea-1
( Tools and Techniques in Biology )
( et & 4 v e )
Define resolving power and magnification of a microscope.

&Rl (microscope) 1 faved &mar va emadq awar & uftamn fafaw|

You want to culture Paramecium in the laboratory. Which material would you
take to start with?

A9 TAEETen # YEifem o dad GUm e 9ed 21 39 s o MY % & fou
a8 g 39 F G oY

A boy collected many kinds of butterfly. What all will he need to preserve and
display them?

Teh o= 4 3F% TSR i faaferal Tl & &1 SHer TiTeor s qor ST YeviH i &
foru 3@ =1 e Y

() To what use are the following put?
(i) Alizarin
(ii) Formalin
(b) Why are dried and pressed plants stored among paper sheets? State the
precaution required for such a storage.

(%) frafafaa @ #=n wm o Smar 87
(i) UfesiE
(i) WA

(@) F@mU ¢ AR TR T M0 GG} h AR F UH o S F W ST 8¢ I
TR o HERUT o U 379 FT qad™ Hl?

State the differences between the following pairs of terms :

(a) Vasculum and plant press with regard to—
(i) material of which these are made;
(ii) possibility of carrying on the shoulder (portable);

(b) National Botanical Garden and School Botanical Garden with respect to—
(i) kinds of plant grown;

(i) size of the garden.

Download From: http://cbseportal.com




22.

23.

24.

25.

26.

314 /HIS/106A f23 14V0O—3000x3

Hfiad ge-Fm # F= SdTsy

()

(@)

IEFAd AR IQU-IE H Aa—

(i) € e fsed 9 o §;

(i) Y T ISR 3¢ AH-of T i FHTEHT;
% Tad H|

TP 91qY e 3R Tpell 9ed UM H F—
(i) UTEUl o YRR I IMC ST,

(i) ITE & ATHR;

% Tad H|

OPTION-II
faerca-11

( Economic Biology )

( arrfeter Srarfemm )

What is an estuary? Name an estuarine (brackish water) fish.

SARARYE F BT 8¢ SaNAeq@ (WR UHl) § 9 9 aTelt T WSl 1 A Fansy|

Show a plant growing without soil only by a diagram.

a1 % SR I T R de o haa o seEn

A farmer had grown beans between two crops to make the soil fertile. How did
the beans make the soil fertile?

HaT I I SH H AEd § TR REE A S Rl % S T BellGR HHd IR | HATRR
HHSA % FRUT T h fF 3T Y B AT

(@)
(b)
(c)
()
(@)
()
(@)

(b)

(=)
(@)

Why are cocoons cooked in hot water for getting silk fibres?
What is the role of crawlers in production of lac?

What is floriculture? How is it different from pisciculture?
WH % YR W b [T FFAl T G H i IqMe S 2
ARE-3c1e H ShicRl hi T R Bt 27

TS 1 Bl 27 I8 weeueH 8 fRd weR fiae @t 27

How does algal bloom become responsible for the death of aquatic
organisms?

Quote a case as evidence for the fact that aquaculture has suffered due to
water pollution.

ATA-TEpeA St Siat il g o fou fohd gsvr Iarht 27
T HAT Hl W&A 6 €9 H foi@d g FARC o S, SIA YGUOT o HRUT SWIed

Rl
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